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95%7K#E x <HA Z5fl =31.876 pfE = 00795 EEE =22>
10 —FIF-LTELRIBAES)
AERP Py 1FoLTED
NE| REE |TavEry _ oMt | BEFREE| \EE
- A
2 0 1.2 0.5 0.4 1.2 4.0 22
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95%K#E x <HA il = 22.383 pfE =0.9187 EME =33>
SRR R HEEE 1 3.7 0.6 1.2 - 3.1 2.6
BB 0 3.1 - - 1.2 34 1.6
—HerE 0 0.8 0.6 04 1.1 3.8 15
95%K#E x <HAZ5fHE =31.876 pfE = 00795 EME =22>
[£%]
11 ZROISTEH~ADSNMOEE
SMLTLY | SmLTLy
E#H z A O
XS 2,848 89.7 9.5 0.8
tHH244 TR SEYBR(CH#HE) 2,109 90.1 9.2 0.7
SEYBR(EH#HK) 229 95.9 3.1 1.0
VEYH (Z 1K) 336 86.6 132 0.3
VEYH (ZHE) 72 87.5 125 -
95%K#E O <hAZ%HfE =17.194 pfE =00006 EFHE =3>
LR HEE 159 82.8 15.8 13
SR 329 87.6 1.7 0.7
—ffE 1,768 90.9 8.5 0.6
95%K#E O <HAZHfE=11.059 pfiE =0.004 BHEE=2>
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<NAZFRIE| <HAZRME| <HA ZFE| <hAZFfBE| <h/ZF{E| <h1ZF(E
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4R HEEE 25 15.6 -
BB 38 438 -
— BB 148 29.7 7.9
95%7KH#E x| 95%IKHE O| 95%KHE x| 95%KHE x| 95%KHE x| 95%KHE x
<NAZFIE| <HhAZFE| <hAZRIE| <h1ZF{E| <HIZFME| <HhMZFfE
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24T R SYH (ZHR) 2,109 60.2 0.2 0.8 25.1 7.7 5.3 0.7
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VDEYE (ZHK) 336 60.7 - 1.3 26.5 58 5.2 0.5
VEYER (ZHK) 72 50.6 3.0 - 32.8 6.1 7.4 -
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SRR R FEEE

95%KEE x <HA Rl = 24684 pfE =0.2138 EHHE =20>
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HEEEHER HEEE 159 47.7 32.1 75 0.7 44 1.4 5.1 1.3
I 329 44.6 33.7 12.8 1.7 3.3 1.4 1.3 1.2
— iR 1,768 39.7 374 135 3.3 3.2 0.9 1.3 0.7
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EXLY 2,848 9.9 134 18.3 5.7 12.1 14.2 24.7 1.7
24 TR A=Y (ZHR) 2,109 9.5 13.4 19.6 5.6 12.4 14.3 23.6 1.6
SYBR(Z1H) 229 10.8 12.8 13.9 7.2 11.6 11.7 31.0 0.9
VEYE(ZHER) 336 1.0 15.4 16.4 5.9 9.6 11.7 28.0 1.9
VEYH(ZHR) 72 137 14.0 6.9 2.5 13.9 22.6 22.1 42
95%K# O <HA i = 30291 pfiE =0.0347 EMHE =18>
SRR R HEEE 159 74 8.5 155 6.0 10.1 15.4 33.8 3.3
AiLE 329 16.4 10.9 17.2 44 13.9 11.7 23.3 2.1
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VEYEF (ZHE) 336 2.6 2.1 4.2 24 2.8 4.4 78.7 2.8
VEYER (ZHK) 72 8.2 4.0 4.2 1.2 4.2 58 72.3 -
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—E 1,768 21.1 25.3 30.1 1.9 5.1 5.7 0.8
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VEYER (ZHK) 72 12.1 15.5 16.0 33.7 22.8
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RS REE
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f17 SEHEC Rik(ERXRBARL)

g |PEVESE EAYAL
EH | £ | meEy (PF YO mmE

2 2,848 7.7 16.0 23.7 48.7 3.9
jet Ry AV (CH#HE) 2,109 6.7 14.9 23.7 51.1 3.6
AEYBR(E#HK) 229 10.3 21.9 30.3 35.8 1.7
VDEVER (ZHER) 336 7.9 14.4 22.2 50.0 5.6
VEYHR(ZHE) 72 22.5 31.9 11.4 25.9 8.4
95%7K#E O <hAZFf# =72529 pfE=0 HEE=9>
SRR R HEEE
BarE
—HerE

95%K#E x <HA Z5fE =5602 pflE =04692 BEHE=6>
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17 REHEED FROKE

5%{%\%574 TALARE | mge

EH | KET | BeET i

EXL
A TR SYH (ZH#4K)
SYE (ZHK)
VEYH (Z )
VEYH (ZHAK)
95%7K#E X <HAZFfE = 5055 pfl=0.8295 EEHE =9>
SRR R HEE
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je Ry SYH (ZHR)
SEYH (ZHHK)
VEYH (Z )
VEYE (ZHK)
95%7KH#E x <HAZFfE =11.155 pfE = 02652 BHEE=9>

R REsE

95%7K#E x <AL ZFfE=7.074 pfli=03141 BMHE=6>
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17 KFEHEEF RIS
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XA L\ et
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E#H FGEY | BX
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24T R A=Y (ZHR)
SYH (ZHR)
VEYEF (ZHE)
VEYER (ZHK)
95%K#E x <HAZFE=10125 pfE =03405 EIEAE=9>

RS

95%K#E x <HAZF(E=6695 pflE=035 BHE=6>

[£%]
17 REBEG TOMOKXAEBEORRE—YIZTOI—FPR-BLEDEELLE)
= = HFEYFESU| CALAGE
B FCEET | WA R e EEE
2 2,848 6.3 13.2 14.7 62.6 3.2
24 TR AYER(ZHR) 2,109 6.4 12.9 15.3 62.4 2.9
SYH (ZHR) 229 4.6 14.6 125 66.6 1.7
VEYE(ZHER) 336 4.1 135 13.0 64.7 4.7
VEYE (ZHK) 72 14.3 13.3 14.0 51.4 6.9
95%K#E X <HAZFfE =14712 pfE =00992 BHE=9>
SRR R HEEE
BB
—HerE
95%K# x <HA Z5fE =5378 pfE = 04963 BEEHE=6>
[2%]
18 FHICHBELIEE
LWDLBR| BRBIES | BRANZ .
g | 505 | AE0GE [Ses0cE W REY | g
=) 123.48) | 121.28) <
&k 2,848 89.5 5.0 2.9 19 0.7
A TR SEYBR(CH#HEK) 2,109 90.5 438 25 14 0.8
SEYBR(EH#HK) 229 89.2 5.0 26 27 05
VEYH (Z 1K) 336 86.2 5.2 44 338 0.3
VEYH (ZHE) 72 71.2 8.7 6.8 6.0 1.2
95%K#E O <hAZ%HflE =27055 pfE=00014 BEHE=9>
SRR R HEE 159 80.2 46 6.9 78 0.6
SR 329 89.1 5.0 36 12 12
—fE 1,768 90.6 47 22 18 0.7
95% K% O <HAZHfE=38743 pfE=0 BEHE=6>
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SRR B B E] 159 4738 36.3 6.5 1.7
DR 329 58.9 36.9 1.2 1.5
—HRE 1,768 62.7 28.4 1.2 0.7
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EX% 2,848 88.7 55.2 6.1 0.1 0.8
tHFERA TR A=Y (ZHR) 2,109 89.5 57.6 25 0.0 0.8
SYH (ZHR) 229 90.7 60.5 27.7 - -
VEYEF (ZHE) 336 87.1 44.0 50 - 1.2
VEYER (ZHK) 72 82.1 36.2 403 1.2 -
95%7K#E X 95%K# O] 95%K#E O 95%K# x 95%K#E x 95%K# O
<NAZF{B| <HhA ZFfll| <hA ZFME| <HhAZFfl| <h/AZFfE| <h/ZFfE
=6.495 pflE| =34743 p| =390356 p| =5.152 pfiE| =5939 pfE| =17588 p
=00899 H| fE=0 BHM| fE=-0 EH|=0.161 HA| =0.1146 BH| {E&=0.0005
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SRR R HEEE 159 0.7
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—HefE 1,768 0.8
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HE=2>) @E=2>) @AE=-2>| HE=-2> E=2> E=2>
[£%]
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EXL 2,848 76.9 13.6 6.7 1.2 0.8 0.8
244 TR AV (ZH#HE) 2,109 78.4 135 5.8 1.2 0.3 0.7
SYHR (ZHR) 229 74.6 10.6 10.6 1.0 1.8 1.4
VEYHR (ZHR) 336 71.9 16.3 8.2 1.2 2.0 0.3
VEYHR(ZHR) 72 68.6 17.3 8.4 2.7 1.5 1.5
95%K# O <HA il = 35.147 pfiE = 0.0004 EHE =12>
AR HEEE 159 61.8 243 7.6 3.3 3.0 -
BiarE 329 73.1 16.7 7.0 2.0 0.3 0.9
—herE 1,768 79.2 11.8 6.7 0.8 0.6 0.8

95%K#E O <HAZHfE =49.822 pfE=0 BEE =8>
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HEEHEER FEEE 159 17.9 20.6 28.7 227 9.5 0.6
Al 329 240 21.2 26.5 20.8 6.7 0.9
—HfE 1,768 32.0 22.9 25.6 15.0 3.3 1.1
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VEYER (ZHK)
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HEEEHER HEEE 159 59.9 30.4 6.1 1.7 1.3 0.7
I 329 70.1 20.7 7.1 0.3 0.6 1.2
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24k 2,848 425 25.3 23.2 6.3 1.8 0.9
24T R A=Y (ZHR) 2,109 43.3 26.2 22.0 6.0 16 1.0
SYH (ZHR) 229 415 238 25.5 6.0 2.7 0.5
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VEYER (ZHK) 72 40.3 20.9 30.3 8.5 - -
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EERHER HEEE 159 74.6 101 6.3 1.1 5.0 3.0
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EH [eTtEla] wla | slais | FUOTE gEpe
EXL
A TR SYH (ZH#4K)

_84_



FHOEFEEREMEELR
UhhEik s FRAE]

P E

[£%]
248 RigHhsE

HAHTE| g

B |ETHERLH LA [ PLELHS 0

2%

HH21A TR AW (Z )
ASYR (S 1)
VEYHR (S

95%7K#E x <HAZFfHE =4.913 pflE =0.555 BEEE=6>

€39
ffi24C B
EH |ectEla gLy | sumls | FLATR gEs

£k

24 TR SYB(Z1)
SEYBR(Z1H)
VEYHR(ZHR)
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AilE 329 26.8 27.8 21.1 22.7 1.6
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(2]
M24D i
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24K 2,848 63.8 23.1 8.4 35 1.1
24 TR SYH (ZHHR) 2,109 63.0 24.0 8.3 3.5 1.2
SEYBR(Z1H) 229 74.1 16.1 5.8 3.2 0.9
VEYHR(ZHR) 336 61.7 232 11.6 3.2 0.3
VEYE (ZHK) 72 57.7 23.0 9.7 6.9 2.7
95%7K#E O <HhAZFfE =19.165 pfE =00238 BHEE=9>
SRR R FEEE 159 59.9 19.3 11.3 75 1.9
AilE 329 57.8 27.6 10.0 2.6 1.9
—HefE 1,768 65.1 224 8.0 3.5 0.9
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XS 2,848 44.8 26.4 13.7 12.7 24
tHERA TR AU (ZHR) 2,109 44.6 27.0 13.3 12.7 24
SYER(ZHHK) 229 50.2 26.0 14.3 9.0 0.5
VDEYER (ZHER) 336 404 26.2 16.4 15.9 12
VEYER (ZHER) 72 55.3 12.7 13.0 15.0 40
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SRR R FEEE 159 31.9 31.3 18.4 17.2 1.3
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A=Y (ZHR) 229 10.2 59.6 15.3 10.1 3.9 0.9
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VEYH (Z ) 336 471.7 15.9
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SRR R FEEE 159 4.2 9.3 31.9 23.8 211 2.5 0.6
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[£3%]
28 J{ELHHE [HEHEE]
EH ey E:E BE #H= RKiE
EXL 2,848
24T R A=Y (ZHR) 2,109
SYH (ZHR) 229
VEYEF (ZHE) 336
VEYER (ZHK) 72
95%K#E x| 95%7K#E x| 95%KHE x| 95%KHEE x| 95%KEE x
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VEYH(ZHK)
VEYH(=#K)

95%7K#E x <HAZFfE = 1834 pliE =02452 EHE = 15>
SRR R FEEE 159 18.9 15.7 24.7 26.2 9.6 3.6 1.2
B 329 11.8 16.1 185 31.8 12.9 6.7 22
—HfE 1,768 6.5 12.7 19.6 36.9 18.3 49 1.1
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XS 2,848 47.1 12,5 23.3 11.7 28 0.7 0.3 0.2 1.3
tHFERA TR A=Y (ZHR) 2,109 474 13.3 22.2 11.8 3.0 0.6 0.3 0.2 1.1
A=Y (ZHR) 229 39.9 9.9 34.4 12.4 1.3 - 0.9 - 1.2
VDEYE (ZHK) 336 49.1 1.7 225 1.1 28 0.9 - 0.3 15
VEYE (ZHER) 72 44.4 6.7 224 12.3 45 4.3 1.2 - 4.2
95%K#E O <HhA ZHfl = 44786 pfl = 00018 HEHE =21>
HEEEHER HEEE 159 61.3 8.0 18.6 6.6 4.4 - - - 1.1
I 329 53.6 115 15.1 13.2 3.0 0.6 0.3 0.7 22
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BE  |EPBEE
EXL 2,848 715 12.7 1.2
24 TR AEYR(ZiH) 2,109 72.6 11.6 1.3
SEYH (ZHR) 229 727 15.3 0.8
VEYE (Z ) 336 66.9 16.7 0.3
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95%KH#E O 95%KH#E x| 95%K#E Of 95%K# Of 95%K# O
<HAZFH{E| <HhAZFfll| <hA ZFfE| <hAZFfl| <h1Z%iE
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E=2>| mE=2>|8@mE=-2> @E=-2>|HHE=2>
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SEYBR(EH#HK) 184 6.1 20.9 178 53.1 2.1
VEYH (Z 1K) 236 55 20.3 19.3 53.7 1.3
VEYH (ZHE) 58 12.3 34.4 15.7 36.1 15
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VEYE(ZHER) 336 2.8 2.1 3.3 88.7 1.6 15
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HEREER HEEE 159 37.4 52.7 9.9 -
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VEYH (ZHE) 72 12.0 23.3 60.4 42
95%7K#E O <h4A (& =17.358 pfiE =0.0081 BEHE =6>

RS REsE

95%7K#E X <AL ZFfE =626 pfli=0.1806 B =4>

_93_



FHOEFEEREMEELR

Uhh S ZHE]
et =
[£#]
135D MWURICHMNITEDHIFES
TAEZE

ma (Lot eir| maesr | LYESE | mEs

3%

je Ry SYH (ZHR)
SEYH (ZHHK)
VEYH (Z )
VEYE (ZHK)
95%K#E x <HAZH{E=10263 pfE=0114 BHAEE=6>

4R REsE

95%7K#E x <A ZFfE =4.298 pfli =0.3672 BHE =4>

[£#]
MI35E #IFHLILWESHRNT D

B (Losest maesk | TAESE | mEs

£k 2,848 10.9 32.7 55.0 1.4
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SR 329 53.8 34.1 10.3 19
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95%7K#E O <AHAZFfE =9.891 pfli =0.0423 BHE =4>
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_98_



FHOEFERE

g

REHS
UhhEik s FRE]

R

B

[&%]
FEI36F (FRUSNT) Mk, EF . RIEDCELE  BATHHRRTEZ SIS
T Eof\aﬁ: BEADD EL\LT\:O& ﬁ—)fﬁ;;[i EES
£k 2,848 19.4 29.6 13.6 35.8 1.6
A1 TR ASEYR(CHER) 2,109 18.0 295 14.0 36.9 16
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